Compute each difference. Use positive (+) and negative () counters if needed. Compute each difference. Use positive (+) and negative () counters if needed.

la. 8-4= ___ {1b. Be(4)= la. 8-4= ___ 1b B+(-4)=
28, ~T—4=__ §2b- o4 g i R 28, ~T—4=__ §2b. TH()=
Sa. 3-(1)= %3"- 1= 3a. 3-(N)=____ §3b. 341=
da. B6-(-2)=__ 4b. -6+2= ____ 4. B-(=__ . 4b. -6+2= _
Compare parts (a) and (b) for each problem. Compare parts (a) and (b) for each problem.

5. Subtracting 4 gives the same result as adding 5. Subtracting 4 gives the same result as adding

. Subtracting -1 gives the same result as adding _. . Subtracting -1 gives the same result as adding ;

8 6
7. Write an addition expression that is equivalent to 10 5. 7. Write an addition expression that is equivalent to 10 - 5.
8. Write an addition exﬁression that is equivalent to 6 - (-3). 8. Write an addition exﬁression that is equivalent to 6 — (-3).
Generalizing the rules for subtracting integers. Generalizing the rules for subtracting integers.

9. Subtracting a number gives the same resuit as adding 2 9. Subtracting a number gives the same result as adding




